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The Earth takes 24 hours to rotate through 360o of longitude. Therefore it takes 1 hour to rotate through 15o of longitude.
Hence every 15o difference in longitude results in a time difference of 1 hour.
15o = 1 hour = 60 minutes
[bookmark: _GoBack]1o = 4 minutes
Even though the local time varies by one hour for every 15o of longitude, in practice it would lead to confusing situations in places relatively close. Therefore the Earth is divided into time zones. Places within each time zone use the same time.
In Australia, there are three time zones:
Eastern Standard Time (EST) Sydney
Central Standard Time Zone
Western Standard Time
In summer, some states have daylight saving (AEDT), in which the clocks are put forward one hour.
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